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Odile	
  Fillod	
  
	
  
Matilda	
  
	
  
Apprenons	
  l'égalité	
  
	
  
Apprenons	
  l'égalité	
  
	
  
Dans	
  l'espèce	
  humaine,	
  
pour	
  former	
  un	
  nouvel	
  individu,	
  
	
  
on	
  a	
  besoin	
  d'un	
  ovocyte,	
  qui	
  ne	
  peut	
  
être	
  produit	
  que	
  par	
  une	
  femme,	
  
	
  
d'un	
  spermatozoïde,	
  qui	
  ne	
  peut	
  
être	
  produit	
  que	
  par	
  un	
  homme,	
  
	
  
et	
  que	
  ces	
  deux	
  gamètes	
  fusionnent,	
  
c'est	
  à	
  dire	
  qu'il	
  y	
  ait	
  fécondation.	
  
	
  
La	
  femme	
  et	
  l'homme	
  dont	
  	
  
sont	
  issus	
  ces	
  gamètes	
  
	
  
sont	
  appelés	
  la	
  génitrice	
  et	
  le	
  géniteur.	
  
	
  
La	
  fusion	
  des	
  deux	
  gamètes	
  donne	
  	
  
une	
  cellule	
  œuf	
  ou	
  zygote	
  
	
  
qui	
  se	
  divise	
  immédiatement	
  
en	
  deux	
  cellules,	
  
	
  
celle-­‐ci	
  se	
  divisant	
  à	
  nouveau,	
  
et	
  ainsi	
  de	
  suite.	
  
	
  
Cet	
  amas	
  de	
  cellules,	
  
désormais	
  appelé	
  embryon,	
  
	
  
ne	
  peut	
  se	
  développer	
  
	
  
que	
  s'il	
  s'implante	
  dans	
  l'utérus	
  



d'une	
  femme,	
  la	
  gestatrice.	
  
	
  
L'embryon	
  est	
  appelé	
  fœtus	
  à	
  partir	
  	
  
de	
  la	
  fin	
  de	
  sa	
  huitième	
  semaine.	
  
	
  
À	
  ce	
  stade,	
  ses	
  principaux	
  organes	
  	
  
sont	
  en	
  place	
  
	
  
mais	
  il	
  ne	
  mesure	
  encore	
  
que	
  trois	
  centimètres.	
  
	
  
Si	
  tout	
  va	
  bien,	
  un	
  être	
  humain	
  naîtra	
  
après	
  environ	
  39	
  semaines	
  de	
  grossesse,	
  
	
  
mais	
  il	
  n'est	
  pas	
  rare	
  qu'au	
  cours	
  
des	
  trois	
  premiers	
  mois,	
  
	
  
le	
  nouvel	
  organisme	
  non	
  viable	
  échoue	
  	
  
à	
  se	
  développer	
  correctement	
  
	
  
et	
  soit	
  expulsé	
  de	
  l'utérus.	
  
	
  
C'est	
  ce	
  qu'on	
  appelle	
  
un	
  avortement	
  spontané.	
  
	
  
Après	
  ces	
  grandes	
  lignes,	
  
	
  
voyons	
  de	
  plus	
  près	
  à	
  quoi	
  ressemblent	
  	
  
les	
  gamètes	
  humains	
  
	
  
et	
  comment	
  se	
  passe	
  	
  
la	
  fécondation	
  en	
  milieu	
  naturel.	
  
	
  
L'ovocyte	
  mature	
  est	
  une	
  grosse	
  cellule	
  
sphérique	
  d'environ	
  120	
  µm	
  de	
  diamètre	
  
	
  
qui	
  contient	
  les	
  éléments	
  nécessaires	
  
au	
  développement	
  du	
  futur	
  zygote.	
  
	
  
Son	
  noyau	
  contient	
  entre	
  autre	
  	
  
l'ADN	
  nucléaire	
  issu	
  de	
  la	
  génitrice	
  
	
  
et	
  son	
  cytoplasme	
  est	
  riche	
  
en	
  toute	
  sorte	
  de	
  choses.	
  
	
  
Il	
  contient	
  notamment	
  des	
  protéines,	
  	
  
des	
  ARN,	
  et	
  à	
  sa	
  périphérie,	
  
	
  
les	
  granules	
  corticaux,	
  	
  



des	
  vésicules	
  renfermant	
  des	
  enzymes.	
  
	
  
Il	
  contient	
  aussi	
  des	
  dizaines	
  
de	
  milliers	
  de	
  mitochondries	
  
	
  
qui	
  possèdent	
  leur	
  propre	
  bagage	
  
génétique	
  :	
  l'ADN	
  mitochondrial.	
  
	
  
L'ovocyte	
  est	
  entouré	
  d'une	
  première	
  
enveloppe,	
  la	
  zone	
  pellucide.	
  
	
  
Elle-­‐même	
  est	
  entourée	
  
d'une	
  couronne	
  de	
  cellules	
  folliculaires,	
  
	
  
appelée	
  corona	
  radiata,	
  
	
  
un	
  reste	
  des	
  cellules	
  du	
  follicule	
  
qui	
  a	
  donné	
  lieu	
  à	
  l'ovulation.	
  
	
  
Le	
  spermatozoïde	
  est	
  une	
  petite	
  cellule	
  
d'environ	
  60µm	
  de	
  long	
  
	
  
composé	
  de	
  trois	
  parties.	
  
	
  
La	
  première	
  contient	
  	
  
le	
  noyau	
  de	
  la	
  cellule	
  
	
  
renfermant	
  l'ADN	
  nucléaire	
  
issu	
  du	
  géniteur,	
  
	
  
ainsi	
  que	
  l'acrosome,	
  	
  
un	
  sac	
  renfermant	
  des	
  enzymes.	
  
	
  
Ensuite	
  une	
  pièce	
  intermédiaire	
  contient	
  	
  
les	
  quelques	
  mitochondries	
  
	
  
nécessaires	
  au	
  fonctionnement	
  
de	
  la	
  cellule.	
  
	
  
Enfin,	
  la	
  cellule	
  se	
  termine	
  
par	
  un	
  long	
  flagelle.	
  
	
  
S'il	
  a	
  été	
  placé	
  dans	
  un	
  environnement	
  
physico-­‐chimique	
  adéquat,	
  
	
  
le	
  flagelle	
  est	
  animé	
  	
  
d'oscillations	
  périodiques	
  
	
  
qui	
  mettent	
  	
  



le	
  spermatozoïde	
  en	
  mouvement.	
  
	
  
Pour	
  faire	
  se	
  rencontrer	
  les	
  gamètes,	
  
la	
  méthode	
  naturelle	
  consiste	
  à	
  obtenir	
  
	
  
une	
  éjaculation	
  du	
  géniteur	
  
dans	
  le	
  vagin	
  de	
  la	
  génitrice.	
  
	
  
Les	
  spermatozoïdes	
  devront	
  ensuite	
  
remonter	
  jusqu'à	
  l'ampoule	
  de	
  la	
  trompe.	
  
	
  
Le	
  mouvement	
  propre	
  
des	
  spermatozoïdes	
  est	
  très	
  lent.	
  
	
  
Mais	
  il	
  est	
  facilité	
  et	
  dirigé	
  
dans	
  les	
  voies	
  génitales	
  féminines.	
  
	
  
En	
  effet,	
  d'abord	
  une	
  partie	
  du	
  sperme	
  
	
  
peut	
  être	
  attirée	
  
par	
  une	
  rétractation	
  de	
  l'utérus,	
  
	
  
après	
  le	
  rapport	
  sexuel,	
  
	
  
et	
  des	
  contractions	
  
des	
  muscles	
  entourant	
  les	
  trompes	
  
	
  
créent	
  également	
  un	
  courant	
  qui	
  
les	
  entraîne	
  vers	
  l'extrémité	
  des	
  trompes.	
  
	
  
Ensuite,	
  si	
  on	
  est	
  à	
  proximité	
  
de	
  la	
  date	
  d'ovulation,	
  
	
  
la	
  glaire	
  cervicale	
  
protège	
  les	
  spermatozoïdes	
  
	
  
contre	
  l'acidité	
  du	
  vagin	
  
et	
  favorise	
  leur	
  progression.	
  
	
  
Enfin,	
  les	
  cellules	
  folliculaires	
  
de	
  l'ovocyte	
  émettent	
  des	
  molécules	
  
	
  
qui	
  augmentent	
  la	
  fréquence	
  
	
  
et	
  l'amplitude	
  
des	
  battements	
  des	
  flagelles	
  
	
  
et	
  orientent	
  les	
  spermatozoïdes	
  
dans	
  sa	
  direction.	
  



	
  
Les	
  premiers	
  spermatozoïdes	
  
à	
  arriver	
  près	
  de	
  l'ovocyte	
  
	
  
le	
  font	
  au	
  bout	
  
d'environ	
  une	
  demi-­‐heure.	
  
	
  
Ils	
  n'ont	
  aucune	
  chance	
  
de	
  participer	
  à	
  la	
  fécondation	
  
	
  
car	
  pour	
  être	
  capable	
  de	
  traverser	
  
les	
  enveloppes	
  de	
  l'ovocyte,	
  
	
  
ils	
  doivent	
  suivre	
  un	
  ultime	
  
processus	
  de	
  transformation	
  
	
  
appelé	
  capacitation.	
  
	
  
Or,	
  ce	
  processus,	
  effectué	
  
par	
  des	
  enzymes	
  présentes	
  
	
  
dans	
  les	
  voies	
  génitales	
  féminines,	
  
prend	
  plusieurs	
  heures.	
  
	
  
Si	
  les	
  spermatozoïdes	
  n'y	
  ont	
  pas	
  
passé	
  assez	
  de	
  temps.	
  
	
  
Il	
  ne	
  sont	
  pas	
  capacités.	
  
	
  
Quelques	
  dizaines	
  de	
  spermatozoïdes	
  
capacités	
  parviennent	
  en	
  principe	
  
	
  
à	
  rentrer	
  dans	
  la	
  corona	
  radiata	
  
	
  
Quand	
  l'un	
  d'eux	
  arrive	
  	
  
au	
  contact	
  de	
  la	
  zone	
  pellucide,	
  
	
  
une	
  interaction	
  complexe	
  entre	
  cette	
  zone,	
  
la	
  membrane	
  du	
  spermatozoïde	
  
	
  
et	
  le	
  contenu	
  de	
  l'acrosome	
  
provoque	
  sa	
  traversée	
  de	
  la	
  zone.	
  
	
  
Il	
  se	
  retrouve	
  ensuite	
  à	
  plat,	
  
au	
  contact	
  de	
  la	
  membrane	
  de	
  l'ovocyte.	
  
	
  
Les	
  deux	
  membranes	
  
fusionnent	
  progressivement,	
  
	
  



ce	
  qui	
  transfère	
  l'ensemble	
  
du	
  contenu	
  du	
  spermatozoïde	
  
	
  
dans	
  le	
  cytoplasme	
  de	
  l'ovocyte.	
  
	
  
Dès	
  le	
  début	
  
de	
  cette	
  fusion	
  des	
  membranes,	
  
	
  
l'ovocyte	
  libère	
  les	
  enzymes	
  
contenus	
  dans	
  les	
  granules	
  corticaux	
  
	
  
ce	
  qui	
  rend	
  la	
  zone	
  pellucide	
  
infranchissable	
  
	
  
et	
  empêche	
  la	
  fusion	
  
avec	
  un	
  autre	
  spermatozoïde.	
  
	
  
L'ovocyte	
  entame	
  ensuite	
  
une	
  série	
  de	
  modifications	
  
	
  
qui	
  aboutissent	
  à	
  la	
  réunion	
  
des	
  deux	
  lots	
  haploïdes	
  de	
  chromosomes	
  
	
  
dans	
  un	
  seul	
  noyau.	
  
	
  
L'ovocyte	
  fécondé	
  est	
  alors	
  
devenu	
  un	
  zygote	
  
	
  
pourvu	
  d'un	
  lot	
  de	
  chromosomes	
  diploïdes.	
  
	
  
C'est	
  la	
  première	
  cellule	
  
du	
  futur	
  embryon.	
  
	
  
Remarquons	
  que	
  
la	
  contribution	
  du	
  géniteur	
  
	
  
et	
  de	
  la	
  génitrice	
  au	
  matériel	
  génétique	
  
de	
  l'individu	
  n'est	
  pas	
  symétrique.	
  
	
  
En	
  nombre	
  de	
  chromosomes,	
  	
  
50	
  %	
  de	
  l'ADN	
  nucléaire	
  
	
  
provient	
  du	
  géniteur	
  
et	
  50	
  %	
  de	
  la	
  génitrice.	
  
	
  
Mais,	
  presque	
  100	
  %	
  de	
  l'ADN	
  mitochondrial	
  
et	
  de	
  l'ARN	
  cytoplasmique	
  provient	
  
	
  
en	
  revanche	
  uniquement	
  de	
  la	
  génitrice.	
  



	
  
Signalons	
  pour	
  finir	
  que,	
  	
  
comme	
  pour	
  d'autres	
  fonctions	
  naturelles,	
  
	
  
l'être	
  humain	
  a	
  développé	
  des	
  techniques	
  
	
  
qui	
  permettent	
  de	
  réaliser	
  
autrement	
  la	
  fonction	
  de	
  reproduction.	
  
	
  
D'abord	
  les	
  spermatozoïdes	
  
peuvent	
  être	
  introduits	
  
	
  
dans	
  le	
  corps	
  d'une	
  femme	
  
sans	
  rapport	
  sexuel,	
  
	
  
soit	
  directement	
  dans	
  l'utérus	
  	
  
avec	
  une	
  canule,	
  
	
  
soit	
  simplement	
  dans	
  le	
  vagin	
  	
  
avec	
  une	
  seringue,	
  
	
  
comme	
  ça	
  se	
  pratique	
  
au	
  moins	
  depuis	
  le	
  XVIIIè	
  siècle.	
  
	
  
C'est	
  ce	
  qu'on	
  appelle	
  
l'insémination	
  artificielle.	
  
	
  
Depuis	
  la	
  fin	
  des	
  années	
  1970,	
  
	
  
on	
  pratique	
  aussi	
  
une	
  fécondation	
  externe	
  artificielle,	
  
	
  
la	
  fécondation	
  in	
  vitro	
  ou	
  FIV.	
  
	
  
Dans	
  ce	
  cas,	
  les	
  gamètes	
  sont	
  
mis	
  en	
  contact	
  dans	
  une	
  éprouvette	
  
	
  
et	
  deux	
  ou	
  trois	
  des	
  embryons	
  formés	
  	
  
sont	
  ensuite	
  transférés	
  
	
  
dans	
  l'utérus	
  de	
  la	
  gestatrice	
  en	
  espérant	
  
que	
  l'un	
  au	
  moins	
  s'y	
  implante.	
  
	
  
A	
  titre	
  indicatif,	
  en	
  2012,	
  
	
  
un	
  enfant	
  sur	
  50	
  né	
  en	
  France	
  
l'a	
  été	
  grâce	
  à	
  une	
  FIV.	
  
	
  
Par	
  ailleurs,	
  les	
  ovocytes,	
  



comme	
  les	
  spermatozoïdes,	
  
	
  
peuvent	
  être	
  congelés	
  
et	
  utilisés	
  longtemps	
  après	
  
	
  
pour	
  une	
  insémination	
  
artificielle,	
  ou	
  une	
  FIV,	
  
	
  
et	
  on	
  sait	
  de	
  même	
  congeler	
  des	
  embryons	
  
pour	
  les	
  implanter	
  plus	
  tard	
  
	
  
dans	
  l'utérus	
  d'une	
  gestatrice.	
  
	
  
Enfin,	
  il	
  faut	
  toujours	
  une	
  femme	
  
pour	
  assurer	
  la	
  gestation	
  
	
  
mais	
  ce	
  n'est	
  plus	
  forcément	
  
la	
  génitrice	
  de	
  l'embryon.	
  
	
  
Dans	
  le	
  cas	
  d'une	
  FIV,	
  
avec	
  don	
  d'ovocyte,	
  ou	
  don	
  d'embryons,	
  
	
  
ce	
  sont	
  deux	
  femmes	
  distinctes.	
  
	
  
Matilda	
  
 
 
 


